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Tea bags are very convenient for usto ___ a cup of tea. However, | doubt the quality of it.

A) bake B) brew C) broil D) boil
Itisa___ concept that when it comes to illness prevention is better than cure.

A) relevant B) sole C) prevalent D) sinful

Being a lawyer, Mr. Johnson has to take the best interest of his ____into consideration.

A) environment B) foreheads C) ancestors D) clients

We are going to stay in this town __ for two days, and will go on with our journey.

A) legally B) permanently C) royally D) temporarily
After stealing the candlesticks from a church, Jean Valjean __ on the streets thinking of how

miserable his life was.

A) wandering B) wounding C) withdrawing D) whirling

The __ result of the game made the baseball team very sad. After all, they had done everything
they could for it.

A) disappointing B) supportive C) discouraged D) encouraging
. After Mary turned down John’s proposal, it took a long time for him to take the __ well.
A) project B) turnover C) refusal D) magic

The tour guide reminded the group members ___ that they should take their belongings along
when they take off the train.

A) incredibly B) voluntarily C) regrettably D) repeatedly
Thanks to the police, | was able to ___ the stolen motorcycle.

A) calm B) recover C) upset D) annoy

The factory has ___ the number of its workers because of the recession. Many of them lost the
job.

A) increased B) decreased C) presented D) achieved
Amazingly enough, there are more than 12,000 of ants all over the world.

A) reforms B) species C) symptoms D) privileges
People who are to seafood must avoid even small traces of the foods that cause them to
react.

A) typical B) grateful C) allergic D) equal

The salesperson the customer about the condition of the used car. In the end, the deal
was cancelled.

A) deceived B) received C) perceived D) conceived
Davis bought his girlfriend a bunch of roses to being late.

A) appeal to B) make up for C) look forward to D) take part in
Since there hasn’t been any solution to the problem, all we can do is wait and see.

A) at present B) on purpose C) at random D) in return
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(i)

Yellowstone National Park is the first National Park in the U.S. and is also widely _ 16 as
the first national park in the world. The park was founded in 1872 when President Ulysess S. Grant
granted the permission of the establishment of this national park. The name of the park was taken
from the Yellowstone River __ 17 through in the park. Over the years, the number of visitors to
this park has ranked top 1 among all national parks in America. The park is famous for it wildlife,
geysers and hot springs. The world’s most famous geysers, the Old Faithful Geyser, is in
Yellowstone National Park. It is also natural habitat for grizzly bears, wolves, bison and elk. Many
tourists visit the park each year to see geysers and animals there.

The park is open to the public all year round featuring different __ 18 . In spring, the time for
rebirth of nature, fantastic fresh flowers of all colors scatter the field 19  the bold eagles soar
high above searching for the prefect nesting spot. The great amount of wildlife could be seen by
tourists during the spring. In winter, you can also visit the park; however, few know that it offers
amazing skiing opportunities. In fact, 20 is nicer than visiting Yellowstone for a family skiing
trip and taking in the breath-taking scenery at the same time. As for the rest two seasons, this
beautiful park still has so many things to offer, and it is left for you to explore by yourselves.

16. A) viewed of B) thought C) looked D) regarded
17. A) flowed B) flow C) flowing D) which flow
18. A) attractions B) lights C) meanings D) crashes

19. A) with B) while C) since D) though

20. A) something B) nothing C) anything D) few things
(ii)

Africa is home to the most spectacular and awe-inspiring wildlife. Elephants are one of the
most iconic animals in Africa, but also one of the populations who have suffered the most.
Elephants are all too often killed for their _ 21 ivory or because they've destroyed crops or
houses. 22, conservation efforts have helped to prevent the decline of elephant populations in
Africa. For example, while participating in GoEco's African Elephant Research and Conservation
project, volunteers will _ 23 these initiatives. They will study the behavior of nearby elephant
herds and give them basic veterinary care. They will learn about elephant behavior, husbandry, and
welfare strategies. _ 24  who have no previous experience working with elephants need not
worry. The project includes training _ 25  volunteers can accurately collect and report behavioral
data.

21. A) distant B) efficient C) valuable D) invisible
22. A) Fortunately B) Additionally C) Instead D) Similarly
23. A) result from B) contribute to C) get rid of D) lie in

24. A) No matter B) Anyone C) These D) Those

25. A) so that B) in case C) as soon as D) in spite of
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(i)

A) functions B) age-related C)to D) think twice E) literally

Are you a book lover? In the world crammed with different recreational activities and
innovative pastimes, books may not be the first choice for many people. If so _ 26__. Reading
gives your brain a different kind of workout than watching TV or listening to the radio. In the
process of reading, parts of the brain that have evolved for other _ 27  --- such as vision,
language, and associative learning --- connect in a specific circuit for reading.

According to research, engaging in a good book can _ 28 make you younger. Adults who
spend time reading have a 32 percent slower rate of cognitive decline later in life than those who do
not. It is because brain exercise makes the brain more efficient by changing its structure to continue
working properly in spite of 29  problems. Another recent study found that older adults who
regularly read or play mentally challenging games like chess or puzzles are two and a half times
less likely 30 develop Alzheimer’s disease. So, why not grabbing a book now?

(i)

| A) as aresult B) searching C) incredibly D) access E) granted

Water covers 70% of our planet, and it is easy to think that it will always be plentiful. We take
it for 31 , we waste it, and we even pay much to drink it from little plastic bottles. In fact,
freshwater—the stuff we drink, bathe in, irrigate our farm fields with—is _ 32 rare. Only 3% of
the world’s water is fresh water, and two-thirds of that is tucked away in frozen glaciers or
otherwise unavailable for our use. Some 1.1 billion people worldwide lack _ 33 to water.

Water is the foundation of life. Almost every human activity involves some use of water.
Today, all around the world, far too many people spend their entire day 34 for it. While people
merely try to survive, many things are lost. For example, in many parts of the world children and
teen girls have to be up at dawn to collect water for the family. Walking for several miles to get
water, the children get tired and some have to miss school _ 35 . To be sure, it is time for
everyone to get involved, doing something to conserve water.
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Long ago, white water rafting was one of the first forms of transportation. It was not only used
for carrying people but also for transferring goods from one place to another. In 1840, Lt. John
Fremont and Horace H. Day invented the first rubber raft, and two years later Lt. John Fremont first
recorded his rafting expedition on the Platte River. In the 1960s, several whitewater rafting
companies were established and began to offer tours. The sport's popularity began to grow when it
became part of the Olympic Games in the 1970s. Today it's estimated that between nine and ten
million people have tried white-water rafting, with about three million rafters running a river more
than twice a year.
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In white water rafting, participants guide, balance and paddle an inflatable raft through
whitewater, or a river's rapids. The boat is made up of groups of people with an experienced guide
inside the raft. Everyone is seated along the sides of the boat and there are foot straps in the bottom
of the raft to help to keep the balance. The participants will always need to bring swimsuit and
towels. The equipment, including a Neoprene wetsuit, a helmet, a life jacket, neoprene boots is
provided by white water rafting companies.

White water rafting is among the most popular sports and a good way to spend a day with
friends and family. It is undertaken in a competitive setting as well. Anyone with an adventurous
spirit can enjoy white water rafting. But you'll need to know how to choose the right river for your
experience level. White-water rapids are rated for difficulty, and there are six levels of classification.
Pay attention to the river's difficulty rating and choose a suitable trip, and you will enjoy the thrill
and excitement.

36. What is the first paragraph mainly about?
A) Best locations for white water rafting in the world
B) History and development of white water rafting
C) The potential risks of white water rafting
D) The biography of Lt. John Fremont
37. What made white water rafting popular?
A) It was included in the Olympic Games.
B) An American invented a rubber raft.
C) It became a common way to carry people and goods.
D) The International Federation of Rafting was established.
38. The equipment of white water rafting does NOT include
A) a life jacket
B) Neoprene wetsuit
C) a helmet
D) knee pads
39. According to the passage, which statement is NOT true?
A) The history of white water rafting began very far in the past.
B) The first recorded use of the rubber raft in whitewater rafting was in 1842.
C) Today, whitewater rafting is only a popular leisure activity, not an event in the sport
competitions.
D) There are six levels of difficulties used to rate a stretch of river, or a single rapid.
40. What does the word expedition in the first paragraph mean?
A) a journey
B) a tradition
C) a doubt
D) a fight
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